BK Fenix
Fenixserien - lagspel bricka 1_14 2019-04-23

IMP o6ver féaltet, 10 bord, 20 par. Antal brickor: 14.

Plac Par Poadng Namn MID Klubb
1 8 183 Ingrid Emanuel - Bjorn Stalfors 45018 31712 BK Fenix
2 10 132 Inka Johansson - Jan-Ake Nilsson 12438 11500 BK Zonen
3 6 91 Krister Jonsson - Yngve Arvidsson 6047 21675 Ystads BS
4 9 36 Orjan Odén - Lars-Folke Piledahl 28909 38273 Ystads BS
5 7 10 Roony Sendrup - Lars Skoland 45029 45030 BK Fenix
6 5 -63 Rune Karlsson - Lennart Tukia 62806 53481 BK Fenix
7 3 -66 Peter Sjosten - Peter Ahlstrom 79242 6352  Svedala BK
8 4 -67 Kent-Ake Olofsson - Anders Fredriksson 23135 7605  Ystads BS - BK Fenix
9 1 -123 Bjorn Stjarnfaldt - Birgitta Frohling 39196 56223 BK Fenix
10 2 -133 Ulla-Maija Johannesson - Marianne Strandberg 35171 91483 BK Fenix
1 12 133 Gunilla Carlsson - Rolf Carlsson 42868 42867 BK Fenix
2 11 123 Elisabeth Carlsson - Inger Berger 41838 85917  Ystads BS - BK Fenix
3 14 67 Anders Berkmo - Bengt Svedrell 12835 89485 BK Zonen - Ystads BS
4 13 66 Anita Nilsson - Ake Persson 6350 36143 BK Fenix - Ystads BS
5 15 63 Christer Bengtsson - Christer Andersson 4694 15440 Genarps BK - Ystads BS
6 17 -10 Peter Andersson - Anna-Lena Vikner 36436 36437 BK Fenix
7 19 -36 Ulla-Britt Olsson - Anita Ljunggren 57323 48683 Sjobo BK - Svedala BK
8 16 -91 Gert Olsson - Mats Andersson 12737 6258  Ystads BS
9 20 -132 Folke Nilsson - Kjell Friberg 6351 6415  BK Fenix
10 18 -183 Erik Hulphers - Esbjorn Jonsson 48214 22877 BK Fenix
1 & KKn984 Basta kontrakt 2 410632 Basta kontrakt 3 4 Kn1065 Basta kontrakt
Nord vE53 3v O =-140 Ost v10 6y O =-980 Syd v Kn7 INTV =-90
Ingen + 105 NS + 108643 ov ¢52
#Kn72 & ¢ v & NT #D96 & ¢ v & NT #K9654 & ¢ v & NT
a7 4 ED632 N7 34565 4E954 a- N25161 4E974 4 KD8 N7 76 66
v72 vDKn1064 S 7 3 4 5 5 v6542 vEKDKn987 S 2 51 6 1 v 864 v 10932 S7 7666
¢ ED9832 ¢ 76 06 9987 +KD7 492 O 117 127 11 ¢ KKn94 ¢ E7 056777
#E1083 &6 V699387 #52 #EKKn7 vV 117 127 11 82 #DKn73 V56777
+ 105 « KDKn87 432
v K98 v3 v EKD5
¢ KKn4 ¢ EKn5 + D10863
#KD954 10843 #E10
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
313 3¥xvO-1 «#K 50 420 -42.0| 1 11 49y O+2 &K -480 56.0 -56.0( 5 15 34 N+2 &3 200 60.0 -60.0
4 14 34S-2 47 -100 5.0 5.0 3 13 4v O+2 &K -480 56.0 -56.0| 3 13 34 V-1 ¢5 100 38.0 -38.0
6 16 24 N-2 ¢7 -100 5.0 -5.0( 8 18 4v O+2 &K  -480 56.0 -56.0[10 20 INV= &4 -90 -10.0 10.0
8 18 34 N-2 +7 -100 5.0 -5.0|10 20 4vy O+2 &K -480 56.0 -56.0| 1 11 2¢ S-2 48 -100 -10.0  10.0
9 19 INS-2 49 -100 5.0 5.0 6 16 4y O+3 4K -510 46.0 -46.0| 2 12 3NN-2 &7 -100 -10.0 10.0
111 2¢0= &K -110 3.0 30| 212 6y O= ¢A -980 540 54.0| 4 14 2¢DS-1 #8 -100 -10.0 10.0
10 20 2¢ V+1 &2  -110 3.0 30| 414 6vyO= &K -980 -540 54.0| 6 16 3NN-2 &7 -100 -10.0  10.0
2 12 34 N-3 &6 -150 -11.0 11.0| 5 15 6y O= 4K -980 -540 540| 7 17 2vS-2 48 -100 -10.0 10.0
7 17 2NS-3 47 -150 -11.0 110 7 17 6vy O= 4K -980 -540 54.0| 8 18 3NN-2 T -100 -10.0 10.0
5 15 24DN-2 vQ -300 -46.0 46.0| 9 19 6y O= ¢A -980 540 54.0| 9 19 4¢ S-3 #8 -150 -28.0 28.0
4 & K1084 Bésta kontrakt 5 & K743 Bésta kontrakt 6 & Kn952 Bésta kontrakt
Vast v Kn64 2NTV =-120 Nord v 1074 2v O =-110 Ost v E9832 34 S =110
Alla ¢ EKn3 NS +9 ov ¢-
D83 & ¢ v & NT #KD985 & ¢ v & NT #ED98 & ¢ v & NT
s E7 4 D9532 N4 47505 4 Kn9 4 ED106 N85477 4 EK3 410864 N9 6876
v7 vED10 S 44755 vDKn52 vE963 S85 467 vKKn4 vD75 S 96876
41098765 ¢ 42 09 95838 + D74 ¢ KKn52 O57 86 6 ¢+ D8753 ¢ EKn4 O4656 6
#EKn109 #K76 V9952838 #Kn1043 #6 V57866 #63 #1072 V4605¢6F€6
4 Kn6 4 852 4 D7
v K98532 vK8 v 106
+KD + E10863 + K10962
#542 *E72 #KKn54
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 14 3vS= &A 140 440 -440|10 20 14 N+1 &6 110 430 -43.0| 4 14 2¢ V-2 vA 200 28.0 -28.0
10 20 2v N+1 &3 140 440 -440| 1 11 3v V-2 &K 100 40.0 -400| 5 15 24 O-2 v6 200 28.0 -28.0
9 19 2¢vS= &4A 110 37.0 -37.0| 8 18 3y V-1 49 50 270 -270| 6 16 2¢vy N+1 ¢A 140 11.0 -110
6 16 34 O-1 ¢K 100 36.0 -36.0| 515 INV= &5 -90 -5.0 50| 8 18 INS+1 5 120 9.0 -9.0
7 17 34 O-1 K 100 36.0 -36.0| 2 12 2¢y V= +9 -110 -13.0 13.0( 1 11 34 O-1 T 100 0.0 0.0
2 12 Pass 11.0 -110( 4 14 2vV= &K -110 -13.0 13.0| 3 13 14 O-1 ¥6 100 0.0 0.0
515 2¢ O+1 ¢2 -110 -120 12.0| 7 17 2vV=  +9 -110 -13.0 13.0| 7 17 INV-1 +3 100 0.0 0.0
8 18 INV+2 3 -150 -200 200 3 13 2vV+1l T -140 -22.0 22.0(10 20 2¢ V-1 45 100 0.0 0.0
111 34 N-4 #6 -400 700 70.0| 6 16 2v O+1 &5 -140 -220 220| 2 12 34S-1 4A -50 -38.0 38.0
3 13 3¢DV= v4 -670 -106.0 106.0| 9 19 3vV= ¢9 -140 220 220 9 19 3&#N-1 +A -50 -38.0 38.0
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7 & EKN1065 Basta kontrakt 8 & Kn987 Basta kontrakt 9 & KKn643 Basta kontrakt
Syd v K865 5v S =650 Vast vKD10 7NTV =-1520 Nord v K85 2NT N =120
Alla 7 Ingen +9 ov + E1064
#632 & ¢ v & NT #Kn7632 & ¢ v & NT &10 & ¢ v & NT
a3 & D972 N6 4 119 6 4 ED32 & K10 N1O0600 4ED52 4109 N6 6 7 7 8
vD4 v 103 S 6 4 119 6 v8 vE4 S10600 v2 v Kn7643 S6 6778
+ EKD6432 ¢ Kn95 06 92314 ¢ EKKn753 ¢ D10864 O 11137 1313 ¢ KD973 52 O6 7555
&KD4 #Kn1095 V69234 &K38 &ED104 V 11137 1313 964 &#EKD5 V6758675
4 K84 4654 & 87
v EKNn972 v Kn976532 vED109
+108 *2 + Kn8
#E87 #95 #Kn8732
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
111 49 S+2 ¢A 680 101.0 -101.0| 6 16 34 V+3 vK -230 86.0 -86.0( 7 17 44 0O-3 47 300 31.0 -31.0
8 18 5¢DV-2 &aA 500 78.0 -78.0| 3 13 5¢ V+2 vK -440 57.0 -57.0| 8 18 2v O-3 48 300 31.0 -31.0
10 20 3v S+1 ¢K 170 170 -17.0| 9 19 5¢ V+2 vK -440 570 -57.0| 1 11 3¢ V-2 &T 200 4.0 -4.0
4 14 4¢ V-1 v5 100 2.0 20| 1 11 3NO+3 vJ -490 450 -450( 3 13 2NV-2 +6 200 4.0 -4.0
515 5¢ V-1 &A 100 2.0 20| 8 18 3NO+4 w7 -520 38.0 -38.0| 4 14 3« 0-2 48 200 4.0 -4.0
7 17 4¢ V-1 ¥5 100 2.0 20| 2 12 66 V+1 vK -940 -42.0 420( 6 16 3¢ V-2 &T 200 4.0 -4.0
2 12 4vyS-1 ¢A -100 -42.0 420| 5 15 6¢ V+1 &2 -940 -42.0 420| 2 12 INS+2 3 150 -11.0 11.0
6 16 3¢ V+1 &2 -130 -49.0 490| 7 17 66 O+1 #3 -940 -42.0 420 9 19 INS+1 ¢K 120 -17.0 17.0
9 19 4e¢ V= v5 -130 -49.0 49.0 (10 20 6¢ V+1 9 -940 -42.0 420( 5 15 2 0-1 ¢J 100 -25.0 25.0
313 5vS-2 ¢A -200 -62.0 620 4 14 7¢ V= vK -1440 -115.0 115.0|10 20 3¢ V-1 &T 100 -25.0 25.0
10 463 Bésta kontrakt 11 49 Bésta kontrakt 12 & EKn105 Bésta kontrakt
Ost v K65 24 O =-110 Syd v97 2NTSD-1-100 |[Vast v42 2NTV =-120
Alla + E103 Ingen + EKn653 NS + KKn
4108543 & ¢ v & NT &EK543 & ¢ v & NT &D8742 & ¢ v & NT
#1087 & KKn952 N8 5536 4EKDKN86 &7 N7 6557 4KD98 443 N6 4865
v Kn32 v ED98 S85536 vEKn8532 v4 S76557 v 753 v E106 S6 4865
¢ DKN9754 +¢2 058886 ¢- +KD109872 O 5 7 8 7 5 +D1052 ¢ E764 O6 856 8
*6 &EK2 V58886 &8 #10962 V578765 &EKn #10953 V7956 8
«ED4 4105432 4762
v1074 v KD106 v KDKn98
+ K86 *4 4983
&DKn97 &DKn7 &K6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 18 44 O-2 #Q 200 60.0 -60.0| 2 12 54 V-3 &K 150 40.0 -40.0|10 20 3#V-3 v4 150 58.0 -58.0
9 19 44 O-2 #Q 200 60.0 -60.0( 4 14 44 V-3 &K 150 40.0 -40.0| 3 13 3¢ V-2 ¥4 100 46.0 -46.0
212 44 O-1 &7 100 370 -37.0| 6 16 54 V-3 &#A 150 40.0 -400| 9 19 2¢ V-1 v4 50 340 -34.0
7 17 44 O-1 #Q 100 37.0 -37.0|10 20 44 V-3 &A 150 40.0 -40.0| 5 15 INO= vK -90 0.0 0.0
6 16 3« N-1 &A -100 -7.0 70| 515 44 V-2 &A 100 260 -26.0| 4 14 INO+1 vK -120 -9.0 9.0
4 14 14 O+1 #Q -110 -7.0 70| 3 13 3vy V-1 &9 50 140 -140| 6 16 INO+1 K -120 -9.0 9.0
111 14 O+3 49 -170 -26.0 26.0| 8 18 3« N-2 a7 -100 -17.0 17.0| 7 17 INV+2 &5 -150 -14.0 14.0
5 15 24 O+2 &7 -170 -26.0 260 7 17 34 V= +5 -140 -26.0 260 1 11 34 N-2 o4 -200 -27.0 27.0
10 20 24 O+2 #Q -170 -26.0 260 9 19 54S-4 vA -200 -38.0 380 2 12 3 N-2 &4 -200 -27.0 27.0
313 44 0= #Q -620 -102.0 102.0| 1 11 54DN-4 &7 -800 -119.0 119.0| 8 18 3v S-3 4K -300 -52.0 52.0
13 497432 Basta kontrakt 14 4 ED983 Basta kontrakt
Nord v5 ANT N =630 Ost v D107 54 S =450
Alla + D109 Ingen + KD
#EKn103 & ¢ v & NT #Kn32 & ¢ v & NT
& Kn108 «ED6 N 10108 9 10 4 K10 4764 N 116 7 117
vDKn10863 v72 S 10108 1010 v 964 v E852 S 116 7 117
¢ 7542 ¢ Kn8 033532 ¢ EKN10852 ¢ 97643 027523
&»- &#D87642 V32532 &KD &3 V27523
& K5 & Kn52
v EK94 v KKn3
+ EK63 .-
#K95 #E1097654
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 18 44 S+1 vQ 650 26.0 -26.0( 9 19 44 N= &3 420 720 -72.0
2 12 3NS+1 ¢Q 630 17.0 -170( 7 17 5& S= ¢A 400 66.0 -66.0
313 3NS+1 vQ 630 170 -17.0| 5 15 3« N+2 6 200 23.0 -23.0
9 19 3NS+1 vQ 630 170 -170| 2 12 5¢ V-3 &A 150 10.0 -10.0
4 14 3NS= vQ 600 8.0 -80| 4 14 34S+2 ¢A 150 10.0 -10.0
515 3NS= vQ 600 8.0 -8.0| 1 11 4¢ O-2 &A 100 -3.0 3.0
6 16 3NS= vQ 600 8.0 -8.0(10 20 54 N-1 %8 -50 -34.0 34.0
7 17 3NS= vQ 600 8.0 -8.0| 3 13 64DS-1 «K -100 -48.0 48.0
10 20 3NS= vJ 600 8.0 -8.0| 6 16 3NN-2 +6 -100 -48.0 48.0
111 3NS-2 ¢Q -200 -117.0 1170| 8 18 3NN-2 ¢9 -100 -48.0 48.0
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